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f(.’L') = a,z" + an—lxnfl + ...+ QQCUZ +aix+ag=0 (1)

b ET, WERBERD ZEHITARTERE CRBORADH 21, N ZE Rk 2 5k L suy 7
I (Maple, Mathematica) Z{#i9 kb dH %, Fi, B2 KD 255 E LT, Excel DALy Ry —F
FHFBETIRZDEEZHVTWS,) 2, C, C++, Fortran 5D 7’0 75 2 v 72479 kB dH 5,

Lo L, i, X (1) WERDOMEE » DHEE (LNt v A3 E 1 ?2) 2 Ah, FEOKDEEZRD S
WRET 22k >T2RAEAD T OXRED HREAIC LT, MBI Z OELURDF 7 L TAR B IZZ )
EIYDTHb, ZITIE, EOZLMERERICHEETE 2 HEE AN T 5, 4, X (1) BLEZ2oMa%

flz) = Zanx” =0, fl(x)= Znan:c”_l (2)
=0 =1
ET5, BoNTERAEE g &L, BEDOfx & g DA% dxg ETHUL, x =20+ 029 £72D
f(x) = f(zo+dz0) = flxo) + f(x0)dx0 + ... =0 (3)
f (o)
) — 4
o (o) (4)
PELNS, FiglITRT X, 21 =20+ 010 B, i+ 1HHDEDIE L TIT,
o f(zi)
SR @

E%2, ZoNfkE=2—1t>r—77Y >~ (Newton-Raphson: NR) &9,
|6x0/x0| << 1 THIUE, NREZM ) MBI % 20 ZROIGALPIEL W EZ2ERT 5, M TE R WY
G5 NRIEZEFID R, |02/ << 1 &% D BROMEIZICET 5,

A f(x)

Figure 1: Newton-Raphson
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Figure 2:

1 HERTOpH OELEER : 558 HA ORIERIC K SFEEDH

Weak acid HA (unknown cs mol dm—3, v, dm?) is titrated by NaOH (¢; mol dm~3, v; dm?) . pK, of HA is 5.0.
¢s = ¢; = 0.10 mol dm—2, vy = 0.050 dm?.
1) Reaction :

1A —
HA = H'+A", Ka:[H[}Ef]] (6)
H,O = HT+OH, Kw = [H"]OH] (7)
NaOH — Nat +OH~ (8)
2) 5 Players: [HA], [H*], [A™], [Na™], [OH]
3) mass balance:
HA :csvs = (vs+v)([HA]+[AT]) 9)
Nat:cy = (vs+v)[NaT] (10)
4) charge neutrality
[Na®] + [H'] = [A7]+[OH7] (11)
The fraction of A~ is defined as
0 - A7l K. (12)

From this equation

A7T] = « (13)
Eq. (6) becomes
_CgUg — CtUt

— Q1 —: pH ? when v; =0
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From Eq.(9),

[H] — [OH] = a_c, — [H+]K+KC (15)
If we assume [Ht] >> [OH™] ,
[HY]? + Ku[HY] = Kacs (16)

If we assume [HT] >> K,,

[HY] = VKacs (17)

— Q2 —: v; 7 when pH = pK,
When pH = pK,, a_ = 1/2. From Eq.(9),
(1/2)csvs — cruvg 1 1 cqvg
K,— Kw/K, = - ~ — = 18
a w/ Ve + U ) 2CsUs Ctlg, Ut 2 ¢ (18)
—— Q3 ——: pH 7 at the equivalence point. csvs = cpvy
From Eq.(9),
A — (a_ B I)CSUS [H+] o KW — [H+] CSUS (19)
vs vy [Ht] [Ht] + K, vs + v;
KwK. CsV
HT)? — Kw + K,[H"] — 2 = —[HT]—== 20
H? Ko+ K[l = e = (S (20)
[HT]3 — Kw[HT] + Ko [HT)2 — Kwk, + [HT]2-22 = 0 (21)
Vs + vt
If we assume pH = 7, the orders of the terms in Eq.(21) are given by
1072, 107, 107", 107", 107" (22)
If we assume pH = 9, , the orders of the terms in Eq.(21) are given by
10727, 107%, 107%, 107, 107%Y (23)
So if we take the leading last two terms,
HY] = || Kwka 20 gy = O (24)
CsUs ct

For pK, of HA is 5.0, ¢, = ¢; = 0.10 mol dm ™3, v, = 0.050 dm?, we have pH = 8.9. Then the last two terms
are the leading terms in Eq.(21)

However, the above method used in Q3 may be triky. In the following we will show how to get the numerical
solution from the polynomial equation.

1.1 Za—bry 37V VERCELDEE: HERTOpH OELIEIER (558 HA OBIEERIC X SHEE

DY)
The numerical solution of f(z) = 0 is given by (the proof is given below)
S (i)
i+l = Ti — 2
Tiy1 =2 (@) (25)
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Eq.(14) becomes

Kw CsVs K, CtUt
HT — = — 26
[H] Ht]  vs+v [HY|+ Ko vs+ v (26)
Kw CsV K, CtU¢
H']) = [H'(H" Ka<H+— s ) 27
S(HT]) HT](H] + Ka) ( [H'] 0] vst o [+ Ko vs t o (27)
K. [H+] CtU¢
— 0t + K, HH2 - Kw — CsUs a ot
((H']+ )([ ] W US+Ut[H+]+Ka+U3+Ut[ ]
= [HY] 4 Ku[HY]? — Kw[HT] - KoKw — 22 K [HY + Y 12 4 9% g, a7
Vs Vt Vs + (% Vs + (%3
R (K ctvt ) HH)2 (Kact”t 6%k ) HY] — K K 28
[HT]” + a+vs+vt[]+ —— w | [H] W (28)
daf CtUt CtUt — CsUs
(HT]) = =3H?+2 (K. )H+ K,—22 K 29
PUTY = g = S0P 2 (1 ) S ey (29)
—— Q1 ——: pH ? when v; = 0 (¢s = ¢; = 0.10 mol dm—3, vy = 0.050 dm®. pK, of HA is 5.0.)
[H*] VEKacs = 1.0 x 1073 mol dm™3
f = [HTP+ K.H? - (Kacs + Kw) [HT] — K. Kw
= 1.0x107?+1.0x 107" = (1.0 x 1079 + 1.0 x 107*)1.0 x 1073
—1.0x107¥ =1.0x 1071
ff= 30x10%420x10%-1.0x10°%-1.0x107*=20x10""
f/f' = 50x107°
updated solution : [Hf] = 1.0x 1073 —5.0x 107~ 1.0x 1073 (30)
—— Q3 ——: pH ? at the equivalence point. csvs = ¢vp. (¢s = ¢ = 0.10 mol dm™3, vy = 0.050 dm?. pK,
of HA is 5.0.)
HY] ~ JEKwK. 2 — 1.4 %107 mol dm? (31)
CsVs
C+U
fo= P+ (K + U;’fvt) [H]? — Ky [H'] — KaKy (32)
= 28x 10727+ (1.0x107° +50x%x 107%)2.0 x 107 — 1.4 x 1072
—1.0x 107 =6.0x 10724
' +12 CtUt +
f = 3H+2(K.+—— ) [H'] - Ky
Us + Ut
= 59x1077+28x107 P +14x1070 —1.0x 107 ¥ =14 x 10710
updated solution : [HY] = 1.4x 107 +4.6 x 107! = 1.4 x 107 mol dm? (33)
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2 CRREEOERAA T TR
2.1 TEHK  KRPDRKEAR L DFEHZERULBEWVES

BRI Cyy M (= mol dm3) DREEF VU ™7 4 LGB Cho M OABEEF F YD AD Vi, dm® (= L) Dk
WEREC, M OB CRHET %, HiE%Z V, dnd ALK E EZ0 pHiEZRD 72V, BT 2N E X%
D THIE R

[H][HCO; ]

H,CO3; = H'+HCO;, K, = =457x107" M 34
2COs3 3 1 1,05 (34)
+ 2—
HCO; = H'+CO03, Kup= w =561x107""' M (35)
[HCO3]
H,O = H"+OH", K,=[H"[OH]=1.0x10"" M? (36)
NaOH — Na™+OH™, NayCO3 — 2Na™ +CO3~, HCl— H" + Cl™ (37)
BRI YD 4 1
[Na™] 4 [HT] = [OH™] + [HCO3] + 2[CO27] + [C17] (38)
WEAA VI L TCOEERGF I
VaCa = (Va + %)[Cli] (39)
T bV LB L TOEERT IR
2Cy1 Vo + CroVo = (Vo + Vp)[Na™] (40)
REEA & v RBKEA F V. RBOERRGEIE
CinVp = {[H2CO3] + [HCO3] + [CO3 }(Va + V) (41)
Ol ZUTDXIICERT %,
Cp Vi _ _
Chi = Vabiéb — [H2CO3] + [HCO; ] + [CO3 ] (42)
R, IREEKEA A4 v, REEA & v DorRIL,
[HoCO3] [H+]?
— - 43
0 Cl Pt K [10F] 1 Ka Ko (43)
[HCO3] Kq1[HY]
— — 44
“ Cyy [H+]2 + Ko [Ht] 4+ Ko Koo (44)
[CO27] Ko Kao
p— p— 4
‘” Cl, P+ Ka[HF] + K Ko (45)
it T,
B Cipa V4 CoVa
A = [HJr] — [OH ] = —201/)1 — Vabj-‘b/i, + alC{Jl + 20[20{,1 + m (46)

E s, ZoXEMHGTEHE L B E RS L OFHREICH V7 Frotran 7077 A2 DUMIR,

c————- FORTRAN program for the titration curve of (Na_2C0_3 + NaOH) by HCLl
implicit real*8 (a-h,o0-z)
wk=1.0d-14 ! K_w
cb1=0.01d0 ! C_bl M Na_2C0_3
cb2=0.005d0 ! C_b2 M NaOH
vb=100.0d40/1000.0d0 ! V_b L=dm~3
ca=0.1d0 ! C_a M HC1
ak1=4.57d-7 ! K_al = [H+] [HC03-]/[H2C03]
ak2=5.61d-11 ! K_a2 = [H+][C0_3"2-]\[HCO3-]
pkal=-log10(ak1l) ! pK_al
pka2=-1log10(ak2) ! pK_a2
do i=1, 3000 ! V_a loop
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i i

itration curve
- second derivative

s —-10
1 uy
1 o
HCl C, M 6 | s
| Titration curve
c;l‘fj Na2C03(0.03 M) NaOH (0.09 M) 5 mL by HCI (0.1 M)
|
I
=3 4
;Ex Na,CO; (}ﬂ M \\\\\\ - -20
S NaOH  CpM
3 LI L L L L L L L L L L L L L L L L LI L (LA L
Vb dm 0 2 4 6 8 10

100

&
&

&

volume / mL

va=dble(i)/100.0d0/1000.0d0

hp=wk/cbl ! initial guess of [H+]
ph0O=-1o0g10 (hp)

delta=hp-wk/hp ! Delta

bunbo=hp**2 + akl*hp + akl*ak2

alpO=hp**2/bunbo 'alpha_0
alpl=hp*akl/bunbo lalpha_1
alp2=aki*ak2/bunbo lalpha_2

fjudo=delta+2.0*cbl*vb/ (va+vb)+cb2*vb/ (vatvb)

-alpl*cbl*vb/(va+vb)-2.0*alp2*cbl*vb/(va+vb)
-vaxca/ (va+vb) 'Eq. (13)
do j=1, 140000 'pH root finding loop
ph=ph0-dble(j)/10000.0d0 ; hp=10.0d0**(-ph)
delta=hp-wk/hp; bunbo=hp**2 + aklxhp + akl*ak2
alpO=hp**2/bunbo ; alpl=hp*akl/bunbo ; alp2=akl*ak2/bunbo
fjud=delta+2.0*cbl*vb/(va+vb)+cb2*vb/ (va+vb)
—alpl*cbl*xvb/(vat+vb)-2.0%alp2*cbl*vb/(va+vb)
-vaxca/ (va+vb)
if (fjud*fjudo .le. 0.0d0) go to 100 !find zero crossing of Eq.(13)
fjudo=f jud
enddo
write (6,’(4£15.7)°) va/vb,va,ph lwrite output
enddo
stop
end
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2.2 HEMHKR : KRPOREARXEDFEHZERT H5G

REAHDRIBA A LB 556, REHITIE 330 ppm(= 1085 Pa) DRIBA ADHAET 2, KIGDOTFE L O
P E B

COz(aq)]

CO3(gas) = COg(aq), K;= [P(COQ) =10"%5 M Pa~! (47)
H,CO
COz(aq) + H20 = HyCOs, Ko = m =10726 (48)
+ —

H,CO; = H' +HCO3, Ag::ﬁhy§€ﬂ3]:1aﬁﬁhd (49)

2 3

B _ HfJ[CO3] .~

HCO; = H'+CO0%, K4:[————£L—:101“4M (50)

3 3 [HCO3]

&% %, ZTITOVMER K3 23, (6-10) HOPHIER Ky O & 2722 DI, (6-10) H Tl [HyCO3) DD
[HaCO3] + [COs(aq)] ZHEHEKT 2725 Th 2, KK (48) 1BV RIETH 5720, AEERD & 9 ICHB5 < TE 21T
ZIEKREATDRIBA A L DVHHZHEFE FEZ LT kv, RATORIBA A DNER—ETHIU., PRI
XD, [COz(aq)], [HoCOs3] 1ZEE L 7225, BRNPEHEDOEMEE XN A Y BLXEF MY Y24 A Vv OHE
N2 2 B RE U, etz £ 5

VaCo — 200 Vi — CiaVp [HyCO3]

A = K
Vo + % MR

[H>CO3]
[H*)?

+ 2K, K3 (51)

L% %, T, NapCO3z (0.01 M, 40 mL) % HCI(0.1 M) THME L 72 £ 2 OWME % . £ TRIZ NagCO;3
(0.03 M) & NaOH(0.09 M) % & 5mL /KA % HC1(0.1 M) THE L 72 & EOWEiEE R T, EodRAp &
DN % % 2 1355, BB KE T E DV %2 B L WGATH 2, KREAH & D% % 2 7- 354 NagCO3 D

A, B-MENT7 2/ =79 LA vOEM (ko) RARroNEWI EIlkD,
HERBRTHAUIhRKRECOBEHEISERE L,

1g Na,00, (0.07 W, 40 mL) by HCI (0.1 M [Na,C0, (0.03 M) + NaOH(0.09 M)] Sl

I — e T e e T

4 ,,,,, w?thout G0, (gas) YT without cO, (@as)|
| with C0,(gas) [ 2| with CO0,(gas)
25 2 s 6 8 10 0 |
v b 0 2 4 6 8 10
: CH

94



2.3 NagCOg + HCI: % é%n\
KL LCRIBT P Y D ADRESUEAEZEZ L, B MRATE, OV, =Cnl, Th5, & (46) k0, &
M

CnVp

H7] - [OHT] = -0 (o ) (52)

L s, HMEATE, CO A4 Y NRIFETHCO; 2% 5DT, (HyCOsz b1FiFXn) T4bba; = 1,00 =
ag=0&EEZTLL, (ki )L@ﬁ@Eﬂ?ﬁ: TR ETEE as—ap=0&D

[H)? = K, Ku,, pH=283
Yhb, SO EEWEET 500K (13) 2 BT 2 &

H* 4+ K [HP + Ky Kpo[HT)? — KW[HY)? — KWKo [HY) — KpKaKey =

CaVa - Cb2%
(—Kal ()2 — 2[H+]3) T

CniVp
Vo + Wy

([ + K [H]? + K1 Koo[H]) (53)

b, SOEE, Cp=00C,V,=CnV, ThHs, pH=28, Ksy =107, Kpo =107 L LTZNZTNDA—
Y —% Qb 2 &, EIERAR-30 T, FHildlE Oy x(-26, -24) TH 5, Cyp 510 mM L ETHIUL, A1
MET 2L TE (Thbb¥nr) —[HY]P + KaKe[HT] =0,[H)? = K Ko 02T %,

2.3.1 Newton-Raphson iklc KRB F—HER

Hf] =2 LB, A (53) T, Cpr=0,0C,V,=CuV, DI,

fl) =0
Ci Vi
f(l') = $4 + Kalxg + KalKasz - wabz - KwKa1$ - KwKalKaQ - bLzb (KalKag:D — x3>
Va+ Wy
Ci Vi
fl2) = 423+ 3Kp122 + 2Ka1 Kaow — 2Kyt — KypKg1 — —20 (KalKag - 3x2>
Va+ Wy
fla:)
T = ;- 54
T Pl o

Ko =457x1077, K4 =5.61 x 10711 K, = 1.0 x 10714, Cy; =0.01 M, V;, = 0.1 dm?, C, = 0.1 M DKf% %
2%, pH=28.30 Z¥IHIfEi (i =0) 2L % &, i=1 TpH = 8291 IZYUKT %, pH = 8.00 Z¥HHiE (i =0) I & 3
&, i=4 TpH = 8291 IR T %, (pKu1 + pKaz2) / 2 =8.296 TH %,

2.4 Na,CO; + HCLE-MER

BB T, OV, =20V, THh5, KX (46) & D, FE MR

CiVs CnVp Ko [H'] + 2K, Koo

+ — - = =
IO = g (o 20) = YV P o+ K10 + Koo %9)
E%, 4 HY])>>[OH7] Z2IKET 5, [HT)2, Ka[HT] >> Ko Kee £7%D
Cp1 Vi
+ +
[H*]? + Ka[HY] = AR (56)
X5, V/(Vat+ V)1 DA —=¥—Thbh, Cp >> [HT] THILL
CnVi
+12 b1 Vb
[HT]" = vy e (57)

L%,
PLEIZ XD, HEEED (6-3),(6-5) Rpslpi,
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2.4.1 Newton-Raphsoni&iC kP RE:FE-LHER
Hf] =2z &<, A (53) T, Cho=0,C,V, =2CuV, DI,

flz) = 0
f(:L‘) = -734 + Kvall'3 + KalKa2x2 - wa2 —KyKonr — KyKag1 Kao —
Cni Vi
@) = 42° 4+ 3Kg2? + 2K Kaow — 2Kt — KKy — — 20
Va+ Wy
Tyl = X — ,f(xi)
J(ig1)

Kog =4.57%x 1077, Ko = 5.61 x 107 K, = 1.0 x 10714,

CnVi

VT (2Ka1 Kasw + Ko12?)
a

(2K K2 + 2K )

(58)

Cp =0.01 M, V;, = 0.1 dm?, C, = 0.1 M DK%

Z%, pH=421 Z¥fE (i =0)1Ic & % L, i=1 TpH = 4.211 1R T 2, K (57) L hRkD SN2 pH IE, pH

=4.210Th 5,
Tiiratenm Carss MazCD 3 {0Udl M, b0l bag BC]PELTM)
164 i -
T
T
1-
]
pH
5 e
-
b1
I|
4+ i
8
e
I: 4 ':- [15
1.4 PR
. ."ﬁ' '
co, ARy .r"ll Ho 00,

A 3 ! —

- 1 l. )
e | X X
[ "'r lll.-'IIII I"'.
/ "
[ ) 4 i
/ .
= — L
G T = B o
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Figure 3: f(z) =2% - 622+ 11z -6 =0

0 0.5 1 15 2 25 3 35 4

-2

3 Za—bk>—=57Y > (Newton-Raphson: NR) iE®D 4]
SO 7= DI 3RARREEZ, DTO L) IKBPAN (» =1,2,3) DEEEEZ 5,

fiz) = (z-3)(z-2)(z—-1)=(-3)(2*-32+2) =2 32> +22 —-32°+ 92— 6 (59)
= 22— 622 +1lx—6=0 (60)
fl(x) = 32 —12z+11 (61)
o f(z;)
TS, .

f(z) ZMRT 2L Fig2D X H itk 5,

LI, UHEZ 2 =0252=4F7T, 0.1ZAARICLELEGAIL, T 7RV T5REMEL 2R T, BRoir
Fo RGBT U, 2 — 3RO D IR L TIROMICPERT 5, o DMEIVNIWE ZA06FIRT % Lix  DffIc
RATZD T2 2 EICHERDPBETH 3,
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0 1 2 3 4 5
start f(x) f(x) next f(x) (%) next f(x) (%) next f(x) f(x) next f(x) (%) next

0 -6 11} 0.54545455 -1.62284} 5.34710744} 0.84895321} -0.3739851; 2.97472613{ 0.97467407} -0.0525923; 2.15387978; 0.99909155{ -0.0018194| 2.00545319; 0.99999876
0.1 -4.959 9.83] 0.60447609; -1.3222407| 4.84246092} 0.87752749} -0.2917806; 2.7798336| 0.98249082{ -0.0359434} 2.10597479; 0.99955819| -0.0008842| 2.00265147} 0.99999971
0.2 -4.032 8.72} 0.66238532} -1.0556629{ 4.36763909} 0.90408637} -0.2203079} 2.60308008] 0.98871991} -0.0229433; 2.06806226: 0.99981403| -0.000372} 2.00111591} 0.99999995
0.3 -3.213 7.67} 0.71890482; -0.8214444| 3.92361455} 0.92826393} -0.1592795; 2.4458546] 0.99338615} -0.0133592; 2.03981431: 0.99993538| -0.0001292| 2.00038772} 0.99999999
0.4 -2.496 6.68} 0.77365269; -0.6179904| 3.51178314} 0.94962893} -0.1084817} 2.30983812| 0.99659399} -0.0068469; 2.02047088: 0.99998274| -3.453E-05| 2.00010359 1
0.5 -1.875 5.75} 0.82608696; -0.4438235{ 3.1342155} 0.96769287; -0.0677792} 2.19697402| 0.99854405} -0.0029183; 2.00874208; 0.99999683| -6.338E-06| 2.00001901 1
0.6 -1.344 4.88{ 0.87540984; -0.2976824| 2.79410911} 0.98194914} -0.0370851} 2.10928268 0.999531} -0.0009387; 2.00281469; 0.99999967| -6.592E-07| 2.00000198 1
0.7 -0.897 4.07} 0.92039312 -0.17873] 2.49665304} 0.99198097; -0.0162315: 2.04830711{ 0.99990531} -0.0001894; 2.00056814: 0.99999999| -2.689E-08| 2.00000008 1
0.8 -0.528 3.32{ 0.95903614; -0.0870306| 2.25081724{ 0.99770235} -0.0046111} 2.01380174] 0.99999212}{ -1.575E-05; 2.00004726 1} -1.861E-10 2 1
0.9 -0.231 2.63] 0.9878327; -0.0247805; 2.07344793} 0.99978406; -0.000432} 2.00129576] 0.99999993} -1.398E-07; 2.00000042 1] -1.332E-14 2 1

1 0 2 1 0 2 1 0 2 1 0 2 1 0 2 1
11 0.171 1.43} 0.98041958; -0.0403185] 2.1186327; 0.99945003; -0.0011009; 2.00330075{ 0.99999955{ -9.063E-07; 2.00000272 1} -6.173E-13 2 1
1.2 0.288 0.92} 0.88695652! -0.265868; 2.71659735} 0.98482454! -0.0310453} 2.09174363 0.99966637 -0.0006676: 2.00200213} 0.99999983| -3.337E-07 2.000001 1
1.3 0.357 0.47{ 0.54042553} -1.6498411} 5.39107288} 0.84645759} -0.3814304; 2.99198027| 0.97394187{ -0.054171; 2.15838588: 0.99903981{ -0.0019232| 2.00576392} 0.99999862
1.4 0.384 0.08 -3.4 -152.064 86.48} -1.6416281; -44.651661; 38.7843661| -0.4903482} -12.954379; 17.605503: 0.24546596{ -3.6466055| 8.23516912} 0.68827477
15 0.375 -0.25 3 0 2 3 0 2 3 0 2 3 0 2 3
1.6 0.336 -0.52} 2.24615385; -0.231239} -0.8182249| 1.96354331; 0.03640823; -0.9960127| 2.0000973} -9.73E-05 -1 2| 1.8385E-12 -1 2
1.7 0.273 -0.73} 2.0739726! -0.0735678; -0.9835842} 1.99917694! 0.00082306! -0.999998 2 -1.115E-09 -1 2 0 -1 2
1.8 0.192 -0.88} 2.01818182; -0.0181758| -0.9990083} 1.99998797; 1.2033E-05 -1 2 0 -1 2 0 -1 2
1.9 0.099 -0.97} 2.00206186; -0.0020618; -0.9999872} 1.99999998; 1.7531E-08 -1 2 0 -1 2 0 -1 2

2 0 -1 2 0 -1 2 0 -1 2 0 -1 2 0 -1 2
2.1 -0.099 -0.97{ 1.99793814; 0.00206185| -0.9999872} 2.00000002; -1.753E-08 -1 2 0 -1 2 0 -1 2
2.2 -0.192 -0.88} 1.98181818! 0.01817581; -0.9990083} 2.00001203! -1.203E-05 -1 2 0 -1 2 0 -1 2
2.3 -0.273 -0.73} 1.9260274; 0.07356783| -0.9835842{ 2.00082306; -0.0008231; -0.999998 2| 1.1151E-09 -1 2 0 -1 2
2.4 -0.336 -0.52} 1.75384615} 0.23123896] -0.8182249} 2.03645669; -0.0364082; -0.9960127{ 1.9999027} 9.7296E-05 -1 2| -1.844E-12 -1 2
2.5 -0.375 -0.25 1} -6.839E-14 2 1 0 2 1 0 2 1 0 2 1
2.6 -0.384 0.08 7.4 152.064 86.48{ 5.64162812} 44.6516607; 38.7843661| 4.49034823| 12.9543789; 17.605503; 3.75453404| 3.6466055| 8.23516912} 3.31172523
2.7 -0.357 0.47} 3.45957447} 1.64984113} 5.39107288} 3.15354241} 0.38143044} 2.99198027{ 3.02605813} 0.05417104} 2.15838588: 3.00096019{ 0.00192315| 2.00576392} 3.00000138
2.8 -0.288 0.92} 3.11304348;  0.265868] 2.71659735; 3.01517546; 0.0310453; 2.09174363| 3.00033363| 0.0006676; 2.00200213:; 3.00000017{ 3.3367E-07 2.000001 3
2.9 -0.171 1.43}3.01958042; 0.04031852} 2.1186327; 3.00054997; 0.00110086; 2.00330075{ 3.00000045} 9.0625E-07;} 2.00000272 3| 6.1462E-13 2 3

3} -1.066E-14 2 3} 7.1054E-15 2 3 0 2 3 0 2 3 0 2 3
3.1 0.231 2.63] 3.0121673; 0.02478053{ 2.07344793} 3.00021594; 0.00043201; 2.00129576{ 3.00000007| 1.3981E-07; 2.00000042 3 0 2 3
3.2 0.528 3.32} 3.04096386; 0.08703056; 2.25081724} 3.00229765} 0.00461115} 2.01380174| 3.00000788| 1.5753E-05! 2.00004726 3| 1.8612E-10 2 3
3.3 0.897 4.07} 3.07960688; 0.17873001} 2.49665304; 3.00801903; 0.0162315; 2.04830711{ 3.00009469; 0.0001894; 2.00056814: 3.00000001{ 2.689E-08| 2.00000008 3
3.4 1.344 4.88} 3.12459016} 0.29768243} 2.79410911} 3.01805086; 0.03708511} 2.10928268  3.000469} 0.00093867; 2.00281469: 3.00000033{ 6.5918E-07{ 2.00000198 3
3.5 1.875 5.75{ 3.17391304} 0.44382346{ 3.1342155] 3.03230713} 0.06777923} 2.19697402| 3.00145595| 0.00291827} 2.00874208} 3.00000317{ 6.3379E-06| 2.00001901 3
3.6 2.496 6.68] 3.22634731; 0.61799039{ 3.51178314} 3.05037107; 0.10848167; 2.30983812{ 3.00340601} 0.00684687; 2.02047088; 3.00001726{ 3.4529E-05{ 2.00010359 3
3.7 3.213 7.67} 3.28109518} 0.82144444{ 3.92361455} 3.07173607} 0.15927949; 2.4458546{ 3.00661385} 0.01335921} 2.03981431} 3.00006462| 0.00012925} 2.00038772} 3.00000001
3.8 4.032 8.72} 3.33761468; 1.05566293} 4.36763909} 3.09591363; 0.22030789: 2.60308008 3.01128009| 0.02294334; 2.06806226: 3.00018597{ 0.00037204| 2.00111591} 3.00000005
3.9 4.959 9.83} 3.39552391} 1.32224072} 4.84246092} 3.12247251} 0.29178059; 2.7798336{ 3.01750918| 0.03594344;} 2.10597479: 3.00044181{ 0.00088421| 2.00265147;} 3.00000029

4 6 11} 3.45454545; 1.62283997{ 5.34710744} 3.15104679} 0.37398513} 2.97472613{ 3.02532593| 0.05259231} 2.15387978; 3.00090845{ 0.00181938| 2.00545319} 3.00000124
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